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� f ( 0 ) = 2 ;  f (2 ) = -3 
 
� A 		�5-	f4BL[( C )		Gf ( - 1 ) = 0 

 
								B		�5-	f4BL[p( C )	G#	�	�	�	«	E	

	
� 	05-Q5-f	+A4[	rQ?-.B+	*/5A:45-	�eM	A 
 
		¬	E		��H	­		�¬	x		��	­		A+A4[	0N8ALB+	O	
	

®eM	tA:45A¬	�		�E­	
	
� +	6~	62-	*x		*+¬	�	¯	x	­		G f ( x ) <  0 

 

�$8�L�����'-@���1/v	
 
1H							U3 = 15 ; U2 = 7 ;  U1 =3			
	
�				°					G	,-	*+	qS�B5-U0> 0				G	AL?Q5U0 = 1 	
	

						°				f1/7�	9QM	6~	62AL+	 W-	�3�Wn 	GUn > 0	
	

												*V37W	O			G	,-Un + 1 > 0	
	
�H		°		,-	*/7W( V )	0/<QLV	0/5ABB+	

	±² ±²Vn + 1 = Un + 1 + 1                    	
 

          							=2 ( Un + 1 )	
		

																							2 Vn				³Vn + 1  	
	

( Vn )         		Ac<A<-	0/<QLV	0/5ABB+q = 2	O	
	

  AVQg                             	tOP-V0= 2   	
	

				°	/7�	9QM	6~	62-	*+	f1n	G	
	

																										Vn= 2 n+1														 L+	O	
	

    																				Un= 2 n + 1 � 1  			
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V0		³S	

	S = 2 ( 2 2010 � 1 )              	
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�� lim f ( x ) = lim ( x 3 ) = -¥ 
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Lim f ( x ) = lim ( x 3 �	³	¨	¥         			
&	
	¨	¥			    &	
	¨	¥                     	  

  
�� f ' ( x ) = 3 x 2 � 6 x          	 
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�	H					G	I-3/�B5-	tOQ2	

- ¥									E												�								¨	¥  x      
												¨E					´				E					¨			f ' ( x ) 

¥																							¨x	
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f ( x )   	
 

x	�		fS/Sg	9QM	6~	62-	*+x	G	
	- 4 x + 4 )	f ( x ) = ( x + 1 ) ( x 2	

				G	059A145-	6gf ( x ) = 0	
S = { - 1 ; 2 }			

�	µ	�	¶	�	&	&·	�	³	¸	�	- 1 ; 0 ) ; ( 2 ; 0 ) }	
	
j	�	f�/�g	9QM	6~	62-	*+x	G	

f "( x ) = 6 x � 6      
 	G	AL?Q5°	f "( 1 ) = 0	

									°	f "( x )		9Q15-	QLM	Ac[@A|-	I3/¹�	
	0oSL5AdA		�Ao1W-	0oSW	fV	

	
jH		05Q1+( T )	Gy = f ' ( 1 ) ( x � 1 ) 

  y = - 3 x + 5                                	
m	�		b<@( T ) 		b�( C )					
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; 0 ) }; 0 ) }

j	� j	�6~	62-	*+62-	*+�
x ) = 6 x 6 x �� 6      6   ��

	G	AL?Q5	G	AL?Q°	°f "( 1 ) = 01 ) = 
					°	°	f "( x )f "( x )I3/¹/
	0oAA	�Ao1W-	0oSW	fV	�Ao1W-	0oSW	fV

( T	Gf ' ( 1 ) ( x 1 ) ( x � 1 )1 )�
y = - 3 x + 5             - 3 x + 5      

( C )(					

x

en
c

��xxn.

��-3

��A A f4BL[L[

											BB	�5-	f4BL[pf4BL[p)
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	¬	x		��	­	 x		��	­	4[	0N8ALB+	O0N8ALB+	O

	¯	x	­		G	G f ( x ) <  0( x ) <  0
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